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pH [BOD|COD| SS |5 | ¢d | Pb |cr(vD| As |T—Hg|T—CN| TCE | PCE|MCF| Fe | Mn | Cu | Zn
21. 6.15] 8.0 2.0 6.4 21 <0.5 [£0.001[<0.005] <0.02 [£0.005[<0.0005 <0.1 [<0.002[<0.0005[<0.0005[ <0.08 | <0.01 [<0.005]0.007
1 R H X N 21.9.8] 8.4 <0.5 | 5.9 13 1.3 [<0.001{<0.005f <0.02 [<0.005[{<0.0005f <0.1 [<0.002[<0.0005{<0.0005| <0.08 | <0.01 [<0.005{0.003
21.12.16] 8.0 1.0 3.7 <1 0.6 |<0.001}<0.005| <0.02 [<0.005]<0.0005 <0.1 [<0.002[<0.0005[<0.0005| 0.12 | <0.01[0.006 [0.003
22.3.9] 7.8 1.0 5.5 14 1.0 [<0.001{<0.005f <0.02 [<0.005[<0.0005| <0.1 [<0.002[<0.0005}{<0.0005| 0.16 | <0.01 |[<0.005]0.004
21. 6.15] 8.2 3.8 9.9 4 <0.5 [£0.001[<0.005] <0.02 [<£0.005[<0.0005 <0.1 [<0.002[<0.0005[<0.0005[ <0.08 | <0.01 [<0.005]0.003
o |rairsrmitn 21.9.8] 8.4 <0.5 | 10.9 6 <0.5 [<0.001/<0.005] <0.02 [<0.005[<0.0005] <0.1 [<0.002]<0.0005[<0.0005[ <0.08 | <0.01 [<0.005[0.002
21.12.16] 8.2 1.2 7.6 <1 0.5 <0.001}<0.005| <0.02 [<0.005]<0.0005 <0.1 [<0.002]<0.0005[<0.0005| <0.08 | <0.01[0.007 {0.003
22.3.9] 8.0 0.9 6.4 8 <0.5 [<0.001{<0.005] <0.02 1<0.005]<0.0005| <0.1 [<0.002}<0.0005]<0.0005] <0.08 | <0.01]0.005 |0.003
21. 6.15] 8.2 2.9 8.1 2 <0.5 [£0.001[<0.005] <0.02 [£0.005[<0.0005 <0.1 [<0.002[<0.0005[<0.0005[ <0.08 | <0.01 [<0.005]0.002
3 M 37 21.9.8] 8.2 1.2 9.5 2 <0.5 [<0.001/<0.005] <0.02 [<£0.005[<0.0005] <0.1 [<0.002]<0.0005[<0.0005[ <0.08 | <0.01 [<0.005[0.002
21.12.16] 7.6 2.7 7.1 6 0.9 [<0.001}<0.005| <0.02 [<0.005]<0.0005 <0.1 [<0.002]<0.0005[<0.0005| <0.08 | <0.01[0.007 {0.003
22.3.9] 7.5 1.1 7.1 14 <0.5 [£0.001[<0.005] <0.02 [<0.005[<0.0005] <0.1 [<0.002|<0.0005[<0.0005 0.10 | <0.01 [<0.005]0.004
21. 6.15] 8.1 3.0 6.2 6 <0.5 [£0.001[<0.005] <0.02 [<£0.005[<0.0005 <0.1 [<0.002[<0.0005[<0.0005[ <0.08 | <0.01 [<0.005]0.003
4 |m et 21.9.8] 8.3 0.5 | 6.2 5 <0.5 [£0.001/<0.005] <0.02 [<£0.005[<0.0005] <0.1 [<0.002/<0.0005[<0.0005[ <0.08 [ <0.01 [<0.005[0.001
21.12.16] 8.0 1.5 5.1 <1 0.5 <0.001}<0.005| <0.02 [<0.005]<0.0005 <0.1 [<0.002]<0.0005[<0.0005| <0.08 | <0.01 [0.006 [0.002
22.3.9] 8.0 1.0 5.9 9 <0.5 [<0.001{<0.005] <0.02 1<0.005]<0.0005| <0.1 [<0.002}<0.0005]<0.0005] 0.13 | <0.01]0.006 |0.003
21.6.15] 7.8 3.0 6.3 2 <0.5 [£0.001[<0.005] <0.02 [<£0.005[<0.0005 <0.1 [£0.002[<0.0005[<0.0005[ <0.08 | <0.01 [<0.005]0.002
5 T AL A, 21.9.8] 8.2 <0.5 | 5.0 4 <0.5 [<0.001[<0.005] <0.02 [<0.005[<0.0005| <0.1 [<0.002[<0.0005[<0.0005[ <0.08 | <0.01 [<0.005]0.003
21.12.16] 7.8 2.0 4.8 <1 0.6 |<0.0011<0.005| <0.02 [<0.005]<0.0005 <0.1 [<0.002}<0.0005/<0.0005| 0.09 | <0.01[0.006 |0.005
22.3.9] 7.7 1.3 5.4 16 0.50 [<0.0011<0.005] <0.02 [<0.005[<0.0005] <0.1 [<0.002]<0.0005[<0.0005| 0.09 | <0.01[0.005 |0.007
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21.6.15] 7.6 1.3 3.5 <1 8.1 <0.5 1 0.02
1 NI 21.9. 8] 8.1 1.1 5.6 10 6.1 1.1 0.14

21.12.16] 7.6 1.5 3.4 <1 7.7 0.6 | 0.02
22.3.9] 7.4 | 0.5 [ 3.7 6 7.5 ] <0.5]0.04
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